Mode :

FIN/MD :

VIN :

Sales designation :
Assortment class:

Market :

Item no.
10

20

30

30

30

30

40

50

60

70

70

80

90

90

100

MD mode

- Parts list -

Mod. des. overview :

WDB 2304711F163487 Catalog :

WDBSK7BA0OBF163487 Major assembly :

North America

Part number
A 211 330 66 20

A 211 330 67 20

A 220 333 07 27

N 000000 003281

N 000000 003281

N 000000 003281

N 000000 003281

A 230 330 03 25

A 025 997 16 47

A 116 334 03 72

N 000912 006176

N 000000 003358

A 168 357 00 89

A 230 330 39 07

A 230 330 40 07

A 220 330 86 07

SL 550
Car

Major assembly MD :

Group :
Subgroup :

Designation/description
STEERING KNUCKLE
FRONT LEFT
Code: 494+951
STEERING KNUCKLE
FRONT RIGHT
Code: 494+951
. JOINT
FRONT
Code: -P99
HEXAGON NUT
SPRING LINK ON SUPPORTING JOINT
HEXAGON NUT
SPRING LINK TO FRAME-TY PE INT.
SUPP.
HEXAGON NUT
TORQUE STRUT TO FRAME-TY PE INT.
SUPP.
HEXAGON NUT
STRUT TO STEERING KNUCKLE
FRONT WHEEL HUB
LEFT AND RIGHT
Code: -P99
. SEAL RING
INSIDE
Code: -P99
NUT
FRONT WHEEL HUB TO STEERING
KNUCKLE
Code: -P99
SCREW
FRONT WHEEL HUB TO STEERING
KNUCKLE M6X25
Replaced by: N 000000 003358
Code: -P99
HEXALOBULAR BOLT
FRONT WHEEL HUB TO STEERING
KNUCKLE M6X25
Code: -P99
PLUG
FRONT WHEEL HUB TO STEERING
KNUCKLE
Code: -P99
SPRING CONTROL ARM
FRONT LEFT
Code: 487

SL ROADSTER
65P

33 - FRONT AXLE

030 - STEERING KNUCKLE AND CONTROL ARM

[007] From Chassis: F 159963 From Date: 16/07/2009

SPRING CONTROL ARM
FRONT RIGHT
Code: 487

_][007] From Chassis: F 159963 From Date: 16/07/2009

. BEARING
LEFT AND RIGHT
Code: -P99

J[408] ONLY REPLACEABLE BY PAIRS

Quantity Version
001

001

002

002

002

002

002

002

002

002

002

002

002

001

001

002

Copyright Daimler AG, 19/03/21, EPC 1.24.2.0, DW 07/2010

Page 1




110

110

120

120

130

130

140

140

145

150

150

150

150

155

155

155

155

160

170

180

A 220 333 00 71

A 220 333 00 71

A 220 333 00 76

A 220 333 00 76

A 211 330 43 11

A 211 330 44 11

A 211 333 29 14

A 211 333 29 14

A 211 333 06 97

A 230 330 25 07

A 230 330 01 38

A 230 330 26 07

A 230 330 01 38

A 211 330 99 07

A 000 330 10 07

A 211 330 99 07

A 000 330 10 07

N 000000 005268

N 910105 010044

A 202 990 11 51

BOLT

SPRING LINK TO FRAME-TY PE INT.
SUPP. M14X1.5

BOLT

TORQUE STRUT TO FRAME-TY PE INT.
SUPP. M14X1.5

SHIM

SPRING LINK TO FRAME-TY PE INT.
SUPP.

SHIM

TORQUE STRUT TO FRAME-TY PE INT.
SUPP.

STRUT

LEFT WITHOUT BEARING

Code: -P99

_.|[009] FOR VEHICLES UP TO VEHICLE IDENT F018536 TO BE REPLACE...

STRUT
RIGHT WITHOUT BEARING
Code: -P99

—.|[009] FOR VEHICLES UP TO VEHICLE IDENT F018536 TO BE REPLACE...

HYDROMOUNT
STRUT

—.|[010, 011] ON VEHICLES UP TO IDENT NO. F121596 THE BEARINGS ...
HYDROMOUNT
STRUT

_'|[012, 010, 011] OBSERVE WIS
ELASTOMERIC CUP

BEARING LEFT AND RIGHT
TRANSVERSE CONTROL ARM
TOP LEFT

Replaced by: A 230 330 01 38
+001 A 000 330 10 07

Code: -P99

—.|[013] UP TO VEH. IDENT NO. F52220, ALSO ORDER LINK ROD FOR H...

TRANSVERSE CONTROL ARM
TOP LEFT
Code: -P99

_.|[013] UP TO VEH. IDENT NO. F52220, ALSO ORDER LINK ROD FOR H...

TRANSVERSE CONTROL ARM
TOP RIGHT

Replaced by: A 230 330 01 38
+001 A 000 330 10 07

Code: -P99

—.|[013] UP TO VEH. IDENT NO. F52220, ALSO ORDER LINK ROD FOR H...

TRANSVERSE CONTROL ARM
TOP RIGHT
Code: -P99

—.|[013] UP TO VEH. IDENT NO. F52220, ALSO ORDER LINK ROD FOR H...

RS TRANSVERSE CONTROL ARM
LEFT CONTROL ARM

Replaced by: A 000 330 10 07
Code: -P99

RS TRANSVERSE CONTROL ARM
LEFT CONTROL ARM

Code: -P99

RS TRANSVERSE CONTROL ARM
RIGHT CONTROL ARM

Replaced by: A 000 330 10 07
Code: -P99

RS TRANSVERSE CONTROL ARM
RIGHT CONTROL ARM

Code: -P99

NUT

TRANS. CON. ARM TO BODY
Code: -P99

—.|[015] From Chassis: F 135354 From Date: 30/03/2007
HEXAGON HEAD BOLT

TRANS. CON. ARM TO BODY M10 X 90

Code: -P99

HEXAGON NUT

UPPER TRANSVERSE CONTROL ARM TO

STEERING KNUCKLE M10

Code: -P99

002

002

004

004

001

001

001

001

004

001

001

001

001

001

001

001

001

004

004

002

Copyright Daimler AG, 19/03/21, EPC 1.24.2.0, DW 07/2010

Page 2




200 A 000 330 00 18 TS BOLT PARTS KIT 004
FOR ADJUSTING WORK ONLY
Code: -P99

Copyright Daimler AG, 19/03/21, EPC 1.24.2.0, DW 07/2010 Page 3




